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9  Rearrange this equation to make b the subject.

a = 5
b  – 9

 Answer  b =  ...............................................   [2]
_____________________________________________________________________________________

10  Here are the fi rst four terms of a sequence.

4            11            18            25

  Write down an expression for the nth term.

 Answer  ...............................................   [2]
_____________________________________________________________________________________

11 x and y are integers.

 (a)  Find the value of x when  –7 <  x <  –5  .

 Answer(a) x =  ...............................................   [1]

 (b)  Find the value of y when 4
3

 < 
y

16  < 8
7

 .

 Answer(b) y =  ...............................................   [2]
_____________________________________________________________________________________

12  The probability of Sachin’s team winning any match is 0.45.

 (a)  Write down the probability of Sachin’s team not winning any match.

 Answer(a)  ...............................................   [1]
 (b)  In a season there are 40 matches.

  How many matches should Sachin’s team expect to win in a season?

 Answer(b)  ...............................................   [2]
_____________________________________________________________________________________
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18 (a)  Which two of these have the same value?

5–2            5
2             

2

2
1c m             

2

5
2c m             0.22

Answer(a) ........................  and  ........................  [2]

 (b)  Simplify.

 (i) a6 × a3

 Answer(b)(i)  ...............................................   [1]

 (ii) 24b16 ÷ 6b4

 Answer(b)(ii)  ...............................................   [2]
_____________________________________________________________________________________

19 (a)  Multiply out the brackets.
 5 ( x + 3 )

 Answer(a)  ...............................................   [1]

 (b)  Factorise completely.
 12xy – 3x2

 Answer(b)  ...............................................   [2]

 (c)  Solve.
 5x – 24 = 51

 Answer(c) x =  ...............................................   [2]
_____________________________________________________________________________________

Question 20 is printed on the next page.
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21  Carol invests $6250 at a rate of 2% per year compound interest.

  Calculate the total amount Carol has after 3 years.

 Answer $  ...............................................   [3]
_____________________________________________________________________________________

22  Solve the equation.
 5(2y – 17) = 60

 Answer  y =  ...............................................   [3]
_____________________________________________________________________________________

23 (a)  Simplify y 
0.

 Answer(a)  ...............................................   [1]

 (b)  Make v the subject of   E = 
2

1 mv 
2.

 Answer(b) v =  ...............................................   [3]
_____________________________________________________________________________________
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21  Carol invests $6250 at a rate of 2% per year compound interest.

  Calculate the total amount Carol has after 3 years.

 Answer $  ...............................................   [3]
_____________________________________________________________________________________

22  Solve the equation.
 5(2y – 17) = 60

 Answer  y =  ...............................................   [3]
_____________________________________________________________________________________

23 (a)  Simplify y 
0.

 Answer(a)  ...............................................   [1]

 (b)  Make v the subject of   E = 
2

1 mv 
2.

 Answer(b) v =  ...............................................   [3]
_____________________________________________________________________________________
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4  The Ocean View Hotel has 300 rooms numbered from 100 to 399.

  A room is chosen at random.

  Find the probability that the room number ends in zero.

 Answer  ...............................................   [2]

_____________________________________________________________________________________

5  Solve the equation   3x – 5 = 16 .

 Answer x =  ...............................................   [2]

_____________________________________________________________________________________

6  A television screen size, S cm, is 80 cm correct to the nearest centimetre.

  Complete the statement for S in the answer space.

Answer  ......................... Y S I .........................  [2]

_____________________________________________________________________________________

4

0580/13/M/J/13© UCLES 2013

For
Examiner′s

Use

7  Sheila can pay her hotel bill in Euros (€) or Pounds (£).
  The bill was €425 or £365 when the exchange rate was £1 = €1.14 .

  In which currency was the bill cheaper?
  Show all your working.

 Answer  ...............................................   [2]
_____________________________________________________________________________________

8  Without using a calculator, show that   3
5

3  ÷ 2 4

1  = 1
5

3  .

  You must show each step of your working.

  Answer

[2]
_____________________________________________________________________________________

9  Factorise completely.
 6xy2 – 8y

 Answer  ...............................................   [2]
_____________________________________________________________________________________
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5  Show that     1 2

1  ÷ 16
3  = 8.

  Do not use a calculator and show all the steps of your working.

 Answer

[2]
_____________________________________________________________________________________

6  Factorise completely.
 12xy – 3x2

 Answer  ...............................................   [2]
_____________________________________________________________________________________

7
D N C

A M B

  The diagram shows a square ABCD.
  M is the midpoint of AB and N is the midpoint of CD.

 (a)  Complete the statement.

  The line MN is the locus of points inside the square which are

  ...........................................................................................................................................   [1]

 (b)  Shade the region inside the square containing points which are
 nearer to AB than to BC  and  nearer to A than to B. [1]
_____________________________________________________________________________________
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17  Find the equation of the line passing through the points (0, –1) and (3, 5).

 Answer  ...............................................   [3]
_____________________________________________________________________________________

18 (a)  Factorise     x2 + x – 30.

 Answer(a)  ...............................................   [2]

 (b)  Simplify     2
( 5)( 4)x x
x x 30
- +
+ -

.

 Answer(b)  ...............................................   [1] 
_____________________________________________________________________________________
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1  Shade the required region on each Venn diagram.

A B

A' ∪ B

A B

A' ∩ B'
[2]

_____________________________________________________________________________________

2  Factorise completely.
 kp + 3k + mp + 3m

 Answer  ...............................................   [2]
_____________________________________________________________________________________

3  The fi rst fi ve terms of a sequence are shown below.

13          9          5          1          –3

  Find the nth term of this sequence.

 Answer  ...............................................   [2]
_____________________________________________________________________________________
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9  Calculate, giving your answers in standard form,

 (a)  2 × (5.5 × 104) ,

 Answer(a)  ...............................................   [2]

 (b) (5.5 × 104) – (5 × 104) .

 Answer(b)  ...............................................   [2]
_____________________________________________________________________________________

10  Find the value of  2x + y  for the simultaneous equations.

3x + 5y = 48
2x – y = 19

 Answer  2x + y =  ...............................................   [4]
_____________________________________________________________________________________
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 (b)  Solve the simultaneous equations.

 3x  +  2y  =  18
 2x  –  y  =  19

 Answer(b) x =  ...............................................

 y =  ...............................................   [3]
_____________________________________________________________________________________

Question 11 is printed on the next page.
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 (b)  Solve the simultaneous equations.

 3x  +  2y  =  18
 2x  –  y  =  19

 Answer(b) x =  ...............................................

 y =  ...............................................   [3]
_____________________________________________________________________________________

Question 11 is printed on the next page.
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4 (a) Solve the equations. 

 

 (i) 4x – 7 = 8 – 2x 

 

 

 

 

 

 Answer(a)(i) x =   [2] 

 

 (ii) 2

3

7

=

−x

 

 

 

 

 

 Answer(a)(ii) x =   [2] 

 

 

 (b) Simplify the expressions. 

 

 (i) (3xy 4)3 
 

 

 

 Answer(b)(i)   [2] 

 

 (ii) (16a
6

b
2

)
2

1

 

 

 

 

 

 Answer(b)(ii)   [2] 

 

 (iii) 

64

87

2

2

−

−−

x

xx

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer(b)(iii)   [4] 
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1 Samantha invests $600 at a rate of 2% per year simple interest. 

 

 Calculate the interest Samantha earns in 8 years. 

 

 

 

 

 

 

 

 

 Answer $   [2] 

 

 

 

2 Show that  

10

1

2

+ 

5

2

2

= 0.17. 

 

 Write down all the steps in your working. 

 

 Answer 

 

 

 

 

 

 

 
 [2] 

 

 

 

3 Jamie needs 300 g of flour to make 20 cakes. 

 

 How much flour does he need to make 12 cakes? 

 

 

 

 

 

 

 Answer  g [2] 

 

 

 

4 Expand the brackets. 

 y(3 O y
3

) 

 

 

 

 

 Answer   [2] 

 

 



Algebra review

14)

14

0580/33/M/J/13© UCLES 2013

For
Examiner′s

Use

8 (a)  Simplify the following expressions.

 (i)  3m – 5m + 6m

 Answer(a)(i)  ...............................................   [1]

 (ii)  5e – 4f – 3e – 6f

 Answer(a)(ii)  ...............................................   [2]

 (b)  s = u + at

 (i)  Calculate the value of s when u = 27, a = –2 and t = 15.

 Answer(b)(i) s =  ...............................................   [2]

 (ii)  Make t the subject of the formula   s = u + at.

 Answer(b)(ii) t =  ...............................................   [2]

 (c)  Solve the simultaneous equations.

5x  +  2y  =  4
 4x  –  y  =  11

 Answer(c) x =  ................................................

 y =  ................................................  [3]
_____________________________________________________________________________________
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4 (a) Solve the following equations. 

 

 (i) 6x O 2 = 2x + 8 

 

 

 

 

 

 

 Answer(a)(i) x =   [2] 

 

 (ii) 4(2y O 3) = 24 

 

 

 

 

 

 

 

 Answer(a)(ii) y =   [3] 

 

 (b) Solve the simultaneous equations. 

 

      5x  +  9y = O21 

 12x O 2y = 44 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer(b) x =    

 

  y =   [4] 

 

 


